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But there are no lashes for a general prohibition

Overview
X995 27 argues that it is necessary for the P05 to tell us that if the nXvrR 07

was brought into the 92°7, that it is 777°2X2 70K, in order to punish the
transgressor with mpo». From the w97 of 71voKR ' that X2 909 wpaw 93
IN7°OR O¥ 7wyn X2 302 21027, we would not have known the mpon 211 (by
0°19% 07 NR2M), since the RY of X" is a NMY902w XY, and there is no NP for
a MY92aw WY, It is apparent that the X considers the W% of this P0d,
namely, )7 WP °2 298° X7 "2 M7 nX oW (from where X" derives his
7wI7), to be a mY702w Y. However we find elsewhere that there is mpona for
transgressing the 758> X7 of this P105. Our Mo resolves this issue.

MooIN asks:
— 99N (8,3 mMan) 1",71511 o NS NN 93YO9N 229 29N nvupn

v nn YR "1 has a difficulty, for in 1921957 377 ¥9K 719 the miwn states -
— 199191 9993 711 2993999 9t INYT

That one who transgresses the prohibition against eating =n1 or 9 is

included among those who receive ‘lashes’; there is a mpo» 2vn for eating

either "M or 710, the question is -
— 2N Y9992 INY N) INSN)

so why do they receive mpn, since the prohibition against 7191 9n is a

general one, for it is derived from the aforementioned P09 of X371 WP > 7I8° XY,
concerning which the X713 states here that one does not receive mphn for transgressing
this IRY since it is a M?722w XY (it includes 7105 WP 7).

Mo0IN answers:
— NP2 UNONIY 99 2257 XM

And *pmn X" answered that concerning =n1u where the 7n declares
explicitly in this p105 the prohibition against eating I -

" 9m refers to a 721p whose allotted time for eating it, has passed. It is 770K to eat it after this time.

2 50 refers to a 1277 where the 1715 (while he was involved in it’s offering) intended to eat it after the
allotted time. This makes the 9109 1277 and it is to be burnt.

3 See 9" Mmoo who explains that the X of 70 is written in the same 109 from where X" derives his
702 of ND*IR Y Awyn X2 11 709 wTIPaw 93; namely the P109 of X7 WP %3 YO8 XY WRA 37 DR nown. If
the 71m°% of X" is considered here as a M»932w XY, so too should 7M1 be considered a M5%22w K> for it is
derived from the same P09. [The same reasoning (that X"1 nw17 is a M?%32w WY, for it concerns many
different types of 0°2109) should also apply to 20 (as well as In1), for their 210X also apply to various
categories (there are various N1127p, [and] who have different 79°K 127, etc.).]
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As it is written, ‘and you shall burn the leftovers in fire, it should not be
eaten for it is holy’, therefore concerning 701 it is not considered a X
nmbhoaw.

mooIn continues to explain why there is a mpYn 211 for 3°5 which is not mentioned
explicitly in this p105:

— 59591 1Y Y 139913 533 "913999
And we also derive 9372 from =n1u through the MW 7713 of "W W', It is
therefore considered as if by 719, too, the 77°9% M0o°X is explicit and therefore it is not
considered a M?952w W5.

nooIN asks:
— VNN ﬂ‘mb NPOIN 9399 1YY TAIRY 97 232D (x,n0 2,1 97 TNNT NINA 79927 YR IN

However there is a difficulty, for in the last 92 of n12%» n>o» concerning
the ruling that if a =7 ate the flesh of a 7797 127> before the sprinkling of the

blood on the mam, (71 7I1) he receives npon five’ times; the x7n3 there -
— D109 UNPAY U5 9INRT 9TYON 2291 993 YPYIDY 1999

Asks and let him also receive an additional np»» because of X' who

rules that 105 WTIPaw 2 there is a mwyn XY for eating it (which should subject him
to [an additional] np%%). This concludes the citation of the X773 in N1on.

mMooIn concludes his question:
: NID MUY IND NN NOWIP NI

But what is the question of that X7n3, for the 7wyn X9 of X" is considered

to be a NM99oaw XY, and there is no NMpPSn for a MY2aw w>! The X3 there is
(seemingly) enumerating [only] the mp%n that he will receive (but not the 1X?). There is
no answer given here by moon. '’

Summary

*In 9" MooN this answer is said in the name of the .

> 75,00 (7¥N) NMAW.

%It is only the implicit %> of X" (concerning the other 2109 of 2109 WTPaW 92) that is considered a K>
m>%22w; not the specific XY of M.

"It seems from mMpoIN that there is no explicit W for eating 2139; therefore an explanation is needed why
there is a mpon 21 for eating 71°0. See “Thinking it over’.

8 The X2 in X7 NN states; it is written [1,0° (2WTP) XIPp7] concerning M3 that 31 R MY PN
7n751, and it is written [, (%) R7P] concerning 130 that Rwn A1y "3 777 200 a1 9oR axY. It says W in
both o°p109. This w"r is used in MN™> to teach us that there is a N3 211 by 70 (as there is by 7n1). Our
mMooIn (seems to) extend this w13 to the X7 MoK (and subsequent Mpon 21°1) of 7100 as well.

? See *"wA there (2,1") who enumerates the five 2*10°X, namely: 791 ,2°¥%p9 I M7, 7R 2P 7902 1.
10 See ©3 11"7 2,m° M1 MvoIN for an answer.

2

TosfosInEnglish.com



X7 1"7 '010 R,70 210D .70

The implicit W7 of X177 WP °3 Ho8° X2 (namely that X? "1 7100 wNpaw
mwyn) is considered a mMY752w IX?; however the explicit W7 of this P1os
concerning M3 (and 7 [by way of a w'"r]) is not a M222w WY, and there
is a Mmpon 2.

Thinking it over

From the answer of MpoIn it seems there is no W> by 210 (at all)'', while
from MooIN question it seems that there is a X7 for 713°0; however it is a X
mY252w. How can this be reconciled?

1 See footnote # 7.

3

TosfosInEnglish.com



